Roll No. Answer Sheet No. ) ;\f‘/
Sig. of Candidate. Sig. of Invigilator. v
CHEMISTRY SSC-I
' SECTION — A (Marks 12)
Time allowed: 20 Minutes . Revised Syllabus

NOTE:

Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be compieted in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

(i)

(ifi)
(iv)
(v)

(vi)

{vii)

(i)

(ix)

(%)
(xi)

{xii)

For Examiner’s use only: -

" “A compound-with chemical formula  Na,CX,-has formula mass 106 amu. Atomic mass of .

the element X is

A 106 B. 23 C. 12 D. 16

The electronic configuration of an element is 1s%,25” . An atom of this element will form an ion that will
have charge.

A. +1 B. +2 C. +3 D. -1
M shell has sub-shells.
A 18, 28 B. 2s,2p C. 3s, 3p, 3d D. 1s, 28, 38
Which of the following elements has greater shielding effect?
A Li B. Na C. K D. Rb
In the formation of A/F,, Al atom loses electrons.
A. 1 B. 2 C. 3 D. 4
Consider the fallowing data:
LEr. No X Y X'y

1 1.00 273 0.0037

2 1.37 373 0.0037

3 173 473 0.0037

4 2.10 573 0.0037

~ Which of the following relationships does the above table represent'?

: 1 1
A xecy B. -~ x=y C. xo— 2} x=—

A solution of NaOH has a concentration of 4g/ dm® . What |sy the mass: of NaOH cgntamed in
250 ¢’ of this selution? '

A. 40g.° - B 20 g C. 19 D 29

Which of the following elements in the given reaction is reduced: ZnO+ H, = Zn+ H,0

A - H, B.. ZnO . C. . Zn D. 0 '
- Galvanizing is coatkg with ' ’ B o .

A Sn- B, 2Zn c. .~ Cr - D Cu

Which of the foIIowmg is-an amphoteric oxide? o _—

A -Na,0 B. 1 4L0, c. Mgo D. SO,

S|I|con belongs to group VA It has : " electrons in the valence shell

A 2 B. '3 C. 4 - D. 6

The branch of Chemistry that deals with substances contammg carbon is called _

A inorganic Chemlstry ‘ B. - Physical (‘hemistry

C. Industrial Chemistry : B Organic Chemustry_

Total Marks: ‘ 12

Marks Obtained: :
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CHEMISTRY SSC-I %
Revised Syllabus ‘

ime allowed: 2:40 Hours Total Marks Sections Band C: 53

IOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)

.2  Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (1Mx3=33)

(x1)
(xii)

(xiii)

{xiv)

{xv)

lote:

Differentiate between the following:
a. Atom and {fon : b. Molecular ion and Free radical

Calculate the mass of 3.24x10'® atoms of Iron.

Define Mixture and Compound.

Differentiate between Shells and Sub-shells.

Define lonization Energy. Write the trend of lonization energy in group and pericd.
Define Isotopes. Draw atomic structures of the Isotopes of Carbon.

Explain briefly the formation of Covalent bond between two Nitrogen atoms.

Describe briefly the formation of Mg** and Na* cations.

The bailing point of water on the top of Mount Everest is 70°C while at Murree it is 98° C .

Explain the difference.

The following table shows data of volume of a gas and its temperature for the given mass of a gas at
800 mm Hg:

Temperature — Volume data for a gas at 900 mm of Hg
Temperature (°C) 0 5 10 15 20
1079 |109.7 111.7 [ 1136 | 1155

Volume (cm3 )

Explain volume-temperature relationship using Charies's law.

Differentiate among Saturated, Unsaturated and Supersaturated solutions giving one example of each.
Define Oxidation and Reduction processes in terms of loss or gain of electrons.

Define the following properties of gases:

a. Diffusion b. Effusion

Urea ((NH , )2CO)) is a white solid, used as fertilizer and starting material for synthetic plastic.

A solution contains 40 g of urea dissolved in 500cm’ of solution. Calculate the molarity of the solution.
Which of the following displacement reaction will not occur? Also give reason:

c. IZ(g) + 2KBr(aq) — 2Kl(aq) + B"z(ﬁ)

SECTION - C (Marks 20)

Attempt any TWO questions. All questions carry equal marks. {2 x10=20)

.3  Describe the Rutherford’s atomic model. What are the defects in this atomic model? (10)

1.4 a.

A5 a.

Define Solubility. What is the effect of temperature on solubility? Explain by giving examples. (08)
Which of the following pairs of liquid are miscible:

(i) Water and Benzene (ii) Benzene and Carbon tetrachloride (CCl,) {02)
{iii) An oil and Benzene
Describe the manufacturing of Sodium Hydroxide (NagOH') from Brine. Write all the chemical

reactions occurring in the electralytic (Nelson's) cell. (08)

Boric acid (/7,B0,) is used in eye wash. What is the oxidation state of B in this acid? (02)

—— 1HA 1408 (L) —
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7
Sig. of Invigilator.
CHEMISTRY SSC-I
SECTION — A (Marks 12)
Time allowed: 20 Minutes (Revised Syllabus)
NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.
Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

()

(i)

(vii)

(viii)

(iX)

(xi)

(xii)

How many moles of molecules are there in 16 g Oxygen?

A 1 B. 0.5 C. 0.1 D. 0.05
What is mass of Carbon present in 44 g of CO, ?

A 64 B. 129 C. 44 g D. 24g

What is the formula mass of CuSO.5H,O ? (Atomic masses are Cu=63.5,H=1,0=16,5=32}
A 159.5 B. 185.5 C. 249.5 D. 149.5
Number of neutrons in;; M is

A 13 B. 14 C. 27 D. 15

Which of the following sub-shells can accommodate 6 electrons?

A s B. d C. p D. f

Rutherford used particles in his experiment.

A He atoms B. He™

C. He™ D. He™

The horizontal rows of the periodic table are called

A Groups B. Periods C. Sub-shells D. Shells
Valence shell electronic configuration of an element M (Atomic No. 14) is

A. 25°,2p" B. 2s%.2p° C. 3s%,3p° D. None of these
Which of the following is NOT TRUE about the formation of Na,S ?

A Each Sodium atom loses one electron  B. Sodium forms cations

C. Sulphur forms anions D. Each Sulphur atom gains one electron

A liquid boils when its vapour pressure is

A 760 mm Hg B. 1Pa C. 101.325kPa D. None of these
Which of the following solutions is more dilute?
A 1M B. 2M C. 0.1 M D. 0.009 M

Consider the given reaction:  H,S+Cl, - 2HCl+§

In the above reaction, H,S behaves as a / an

A Reducing agent B. Oxidizing agent
C. Electrolyte D. Catalyst

For Examiner's use only:

Total Marks: 12

Marks Obtained:
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CHEMISTRY SSC-I L2

(Revised Syllabus)
Time allowed: 2:40 Hours Total Marks Sections B and C: 53
NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’' on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.
SECTION — B (Marks 33)
Q.2  Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11x3=33)
(1) Write the empirical formulas for the compounds containing C to H in the following ratio:
a. 1.4 b. 2.6 c 6:6
(i) Oxygen (O, ) is converted to Ozone (0, ) during thunder storms. Calculate the mass of ozone (0}
if 9.05 moles of ozone is formed in a storm.
(i) Differentiate between Analytical chemistry and Environmental chemistry.
(iv) Write electronic configuration of the following elements:
a. 2 Si b. . Mg c. N Ar
(v) M-24 is a radioactive isotope used to diagnose restricted blood circulation. How many electrons, proton
and neutrons are there in this isotope. Valence shell electronic configuration of M is 3s™
(vi) Find out the position of the following elements in the periodic table from the electronic configuration:
a. Nitrogen (Atomic No. 7) b. Oxygen (Atomic No. 8).
(vii) For Aluminum (Al) and Nitrogen (N) pair of atoms, use electron dot and electron cross structures to wril
the equation for the formation of ionic compound.
(vii) Is evaporation a cooling process? Explain briefly.
{ix) Explain why CH,OH (Methyl aicohol or Methanol) is soluble in water but C, H, (Benzene) is not.
(X) A solution of calcium hydroxide Ca(OH,) is prepared by dissolving 5.2 mg of Ca(OH), to a total
volume of 1000 ¢m’ . Calculate the molarity of this solution.
(xiy ~ What is Oxidation State? Calculate the oxidation number of Crin H,CrO, (chromic acid).
(xii) Which of the following displacement reactions will occur and why:
a. Clz(g) +2NaF .\ = 2NaCl .\ + Fy b. Bryg) t 2Kl 4q) = 2KBr iy + Iy
c. ]2(3) +2KBr 0y = 2K] 4y +Br2(,,
(xii)  Name two substances that are solids at25°C .
(xiv)  Explain how elements attain stability.
(xv)  The Isotopes of Chlorine are };C! and ], CI . How do these Isotopes differ? How are they alike?
SECTION — C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2x10=20
Q.3 Define Covalent Band. Explain the types of covaient bond giving two examples of each bond. (1¢
Q.4 Explain the effect of external pressure on boiling point of liquids. {(1¢
Q.5 a Explain the ways in which Oxidation and Reduction processes can be defined. Give two examples
of each. ' (0t
b. Hydrogen peroxide (H,0,) reacts with Silver oxide (4g,0) and Lead (II) Sulphide
according to the following equations: (0
i H,0,+ Ag,0 -5 2A4g+ H,0+(Q, (i) 4H,0, + PbS — PbSO, +4H,0

is hydrogen peroxide (H,0,) an oxidizing or reducing agent in the above reactions? Explain the rea
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Roll No. Answer Sheet No. 5\[ (

Sig. of Candidate. Sig. of Invigilator.
CHEMISTRY SSC-I
SECTION — A (Marks 12)
Time allowed: 20 Minutes (Old Syllabus)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil,

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i) Who had discarded phlogiston theory?

A Wohler B. Lavoiser C. Stahl D. John Dalton
(i) The Molecutar Formula of oxalic acid is (', H,0, . Which of the following formulae represents its
empirical formula?
A CH,0, B. CHO C. CHO, D. C,HO,
{iit) The maximum number of electrons which can be accommodated in L-shell of an atom is
A, 6 B. 8 C. 18 D. 32
(iv) The red colour of human hair is due to the presence of compounds of .
A iron B. Titanium C. Cobalt D. Molybdenum
{v) Which of the fallowing molecules has the highest polarity between atoms?
A H, B. c0, C. HCI D. H,0
{vi) How will heating a liquid affect its evaporation?
A Decreases
B. Increases
C. Remains the same
D. Initially decreases and then increases upon further heating
(vii) ice-cream contains by volume of air.
A 30% B. 10% C. 50% D. 20%
{vii)  Sulphuric Acid was discovered by
A Al-Jahiz B. Berzelius
C. Jabar bin Hayan D. None of these
{ix) in Down’s cell, the cathode used is made of .
A Graphite B.  lIron C.  Steel D.  Aluminium Oxide
(x) One Faraday is equal to
A 96,200 Coulombs | B. 96,600 Coulombs
C. 96,500 Coulombs D. 96,400 Coulombs
(xi) Apple plant grows at pH of soil .
A 45-6.0 - B. 7.0-8.0
C. 50-65 D. 6.0-8.0
(xii) Heat content is also called __
A Enthalpy of Reaction B. Heat of Reaction
C. Energy of Reaction D. None of these

For Examiner's use only:

Total Marks: 12

Marks Obtained:
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7
CHEMISTRY SSC-I HC
(Old Syllabus)

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B' and any two questions from Section ‘C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 33)
Q.2 Answer any ELEVEN parts. The answer to each part should not exceed three to four lines. (11 x3=33)
(i) Who were Alchemists and what was their belief?
it) Benzene has an empirical formula ‘CH' and its molecular mass is 78. Find its molecular formuia.

(
(iii) Write down the characteristics of [ rays.
(

iv) a. Who introduced the word Isotope first? What is the meaning of isotope?
b. On what basis do isotopes of a given element differ from each other?
(V) Which element will have larger atomic size in the following pairs:
a. Alor P b. Cuor Ag C. Naor K

(vi) What is Polar Covalent bond?
(vii) Why do atoms form chemical bonds?

(viii) It is easy to compress air as compared to water. Why?
(ix) Define Molar solution.

(x) Write down the objectives of Electroplating.

(xi) Differentiate between Conductors and Non-conductors.
(xii) What is meant by Basicity of an acid?

(xiii)  Define the following:

a. Titration b. Indicator
(xiv)  Calculate the amount of energy required to vapourize one mole of water (H,0), using the
following equations :

CHy +20, = €O, +2H)0) AH=-802k
(V) What is meant by scientific method?
SECTION —~ C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2x 10 = 20)
Q.3 a Describe the contribution that Rutherford made to the development of the atomic model. (06)
b. What are the defects of Rutherford's atomic model? . (02)
c. What do you understand by Proton number and Nucleon number? (02)

Q.4 Howis a Covalent bond formed? Explain by giving examples. Describe the properties of covalent

compounds. ' ' -(10)
Q.5 a Classify the following compounds as acids or bases: ‘ ‘ (06)
() Calcium oxide (i)  Sodium oxide '
(iii) Sulphur trioxide (iv) Hydrogen suiphide
(v) Carbon dioxide . . (i) Sodium hydrogen carbonate
b. indicate the category of the following salts: . (04)

0) Sodium chloride (NaCl)

i) Chrome Alum K,S80,.Cr,(S0,);.24 H,0

i) Potassium hydrogen sulphate  (K/SO,)

iv) Ferric di hydroxy acetate  Fe(OH ),(CH,COO)
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(11x3=33)

(2x10=20)
(06)
(02)
(02)
(10)
(06)

(04)

(33/.’1)’ ) r»..-b
:u:.‘“.-,uz;w.?uwz,:_ Lozt (MBS s 1A
0F A s Egf o 0
PN TBAS AR Sl CH b fgibere (i)
FelBlure B i
‘e I TG AL S T e e I ()
ST TN AP R 1 3
L s n Bl AT St (V)
KL Na - AgiCu o PLAl
e ekl (Vi)
bl B lA (i
tul e TS bl Bt (viil)
L5 @)
el oktis W
G PIIESAE A S )
el arbiUnE (i)
LIPS (i)
Mo o b
AT L S st A I LY e APt it (xiv)
CHy  +20y == CO,  +2H0 AH =-890k
CHy  +20, = CO, +2H,0,, AH=-802%

| ‘el KPS (x)
(20 /J{ ) pro
(-ujzlzﬁiﬁuﬂrrl?.g{ S o =N
_q/ug(Contribution)(s’ufJJJJSLQ%-IKSJ}J;; A
I AUREL S
?‘LJ'/‘:(G-/.'}C&KJ.’I sl /:}ut"g -
PN skt [ S oo s S UL A S ka0l
&£ (Classify) St Ut o el smer it 02
yi g J’Ju‘)if (iii) ST Sy (i) 2 f,f” ‘ 0}
SAMSAE  ) BV ) P (V)
S uk(Category)r Ui i finer oo

K80, Cry(S0); 24H,0 b/ iy (NaCDyyfese ()

Fe(OH ),(CH;COO) wausiuydiss vy (KHSOp) _u_wu’-,ug;(f'w (iil)
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